[ Efficiency vs vertpos |

~ 0.01%
.009
.008
.007
.006
0.005
0.004
0.003
0.002
0.001

efjcliencyys yert

Ratio

—— DOM V9001 RO0000000 T —Gfopal—REtOrgT

= BQV-Vo801-R000000001—Global—mkEliNe
Efficiend —— D M:V8881:R888888881:g obal—mKkF| NeWFrB

—— DOM~V0001—"R000000001—Global—mkFi NeWDett R

.................................................

.................................................

.................................................

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0
>
0.

g

009
008

9.007
>
3.006
)
£.005
()
0.004
0.003
0.002

Y17 R SO MRS NI MO
q_.'..'..'..i..'..!..'..i..'..'..'..i..'..!..'..i..'..'..'....'..'...'.

Ratio

0.5

%0 =40 =20 0 20 40 60

Sim. PV z (cm)



	Contents
	Page 1


